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LBEESNE S LHREINDA LEEINDH LHESINDA
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o | thasoms  |[TEEORROBER | 4 ppomm e | thesioxs  |TEEOREORER | ppomm
RETRIROER |y ooun/m’% 87 5K B BRI OEH | 00 /m?% 17 B R
NDOKRES| +tRE |HOKES| +RFE |AOKES| 7% |HOXKES| +7E NOKES| 7% |HOKES| £FE |HOKEE| £7%E [HOKES| +7E
DILJRK| OFE |DIBFRK| OFs |026EK| OFE |OBRKX| OF DIBJRK| OFE |OIBHEK| OFE |DI6RK| OFE |OBEK| OF
DED nED NED NHED DHD DEHED E)) DEHED
(kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m)
1 ~ 2 - - 100.00 1.00 - - 14.48 2.86 ~
2 ~ 3 126.01 1.00 100.00 1.00 - - 12.92 2.56 ~
3 ~ 4 130.00 1.00 100.00 1.00 - - 12.08 2.39 ~
4 ~ 5 130.03 1.00 100.00 1.00 - - 12.08 2.39 ~
5 ~ 6 - - 100.00 1.00 - - 11.96 2.37 ~
6 ~ 7 - - 59.47 1.00 - - 8.82 1.75 ~
7 ~ 8 - - - - - - - - ~
8 ~ 9 - - 78.55 1.00 - - 9.43 1.87 ~
9 ~ 10 - - 78.55 1.00 - - 9.43 1.87 ~
10 ~ 11 - - 59.46 1.00 - - 8.94 1.77 ~
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